



P5)

$$\begin{bmatrix} x_1(k+1) \\ x_2(k+1) \\ x_3(k+1) \\ x_4(k+1) \end{bmatrix} = \begin{bmatrix} \beta & 0 & 0 & 0 \\ (1-\beta) & \beta & 0 & 0 \\ 0 & (1-\beta) & \beta & 0 \\ 0 & 0 & (1-\beta) & \beta \end{bmatrix} \cdot \begin{bmatrix} x_1(k) \\ x_2(k) \\ x_3(k) \\ x_4(k) \end{bmatrix} + \begin{bmatrix} 1 \\ 0 \\ 0 \\ 0 \end{bmatrix} \mu(k)$$

P6)

a)  $\dot{x}_1 = -\mu(t) \frac{3}{L} (x_1 - \varphi) + \alpha R(t)$   
 $\dot{x}_2 = -\mu(t) \frac{3}{L} (x_2 - x_1) + \alpha R(t)$   
 $\dot{x}_3 = -\mu(t) \frac{3}{L} (x_3 - x_2) + \alpha R(t)$

c)?  
d)?  
e)?

b)  $x_1 = \int -\mu(t) \frac{3}{L} (x_1 - \varphi) + \alpha R(t)$

